Final Cuts: 1) n_lep =0 2) n_jets >= 2 3)Missing mass > 200 GeV 4) |cos(theta)| < 0.8

5) M_j{1,2} > 40 GeV 6) pT_j1 > 100 GeV 7) pT_j2 > 100 GeV

Jets used: VLCjetR10 inclusive

All parameters with strength 1E-12

95 % CL limits for 6TeV | 95 % CL limits for 30TeV

T0
T1
T2
MO
M1
M7
SO
S1
S2

[-0.004898, 0.002499]
[-0.00172, 0.001441]
[-0.010856, 0.004613]
[-0.024745, 0.026920]
[-0.062781, 0.051997]
[-0.094198, 0.117292]

[-0.001695, 0.000819]
[-0.004277, 0.002468]
[-0.003982, 0.001854]

[-0.061346, 0.059631]
[-0.032729, 0.046135]
[-0.040625, 0.036925]



